Losningsforslag till tentamen TMELOS Eltekniska system 2023-08-23

S T /S N

l. Arrvarvo EXE/PELVIS NOD%(/Ai?’S‘

= \/ & A
N .&\/Z
r 2 \S G BEEE ;
%, ]
/ z | T L T L IAVEE,
f-[,‘_N J; +>
= ——— 7 m p Y [l 4 f A
R A A /R B WA AT
\ | =1 | ‘ ‘
A\ i
< =EN |
T Viep = O ’
| ‘ | | _ .,,‘
J#7 -7 = O | =
| o 3

L T Y (V-£,] -
—ﬂl—\—-*—'I +7 =1 TP =|

‘pl | 9 | : l?—)

~, 3 |

|

Zﬁ’v [ P \/;—;/O“ ‘
—— + 0,005 | - —+—+| |= O
/000 ‘ | /1000 ||

25-¥Y + 45 =Y |+|10]
| HEER

a | |
|
l“
|
,
|

y.: + Jdo

4

/}LLTS;?

U, = [
T R3 ;

fde—:/O,\) I 0]
‘ 1 ||

|
[

= /0 V

/=TT



o

. L4 jlo
() - ws(e sin(1207°¢-0") v = ¢ =r2fze v
Y, = 230V =>f/:=23°ﬁ\/ U
Z#
Y=+ ——=-
£+ £,
2 / 1
/ e = 7 woc
Z,= R+l
If+ij'
| U)z) :} /|

,"cj'r\i_c+'€*ij \

‘ﬂzo,o% (20 0,123)" "
230 = 1152 - =

Zo,az*(/Zo/T:O,IZ?l‘ . )L
72077 - C

el Q:glx,gﬂ,f




230
J= — - = 4,434
/zo,o + (/zaix".o,/z;)z

p=p7 = p=393W




N
3a)

7 v
. 7/4/
7 f .
: LoV
K Ty
6;/6 ’V/v/y@f,u - ;:’ é—i
'F’/)/ )
2 | . 94
/\/I —{/— - NZ ’
o =49V
o - ¢,
- ) -
= Uz A
4, - 1 ;
; 9”2\/ 0,20V
3¢) )
UC
. jB = Z2o0mA
j — 2 U(— gz B \Za
Ue o He=
e
‘Ze: e

A
= /0 m
7. - ‘78

O orp + =

O oc20

.7 ;‘73(/+é—'()
= \73*45'6\8

= 7 + /

Jor = &

14 ¥

= /oA
of1+29) = Ger
- '0/ |



/ |
Ui =~ g - (2 .(A%//&L) i
ijL ,,(1(93//&)
=—/12,];-( ,’%//,Q )(z)
/+chz(ﬁ3i'6)
500 SL

U = 6//']5 (‘3)

©
P (/,//&//4,,) o
Faoc, * (40611,
o JwG(EH8 14,
n ,,,(4)

/ +<7'M)C, ('e/// z.//é”)
M—-———v—-—-—r
L2ot2 L



/

[ g —=
Jfooooo

(2) = 4 = —1900007 -

(3) = w= 25003

’ w

4/29,1
) = o L
I d 774z

(2),(3) ocH (4') NS 7 (/) -

. W
- 150000, - ,/w ‘W, - 4{2";5
Z”iﬁ - /73J 700000 /* ) 730z
Mf
” 2500 ¥ - D,
'S
,;_U_"_"_é____éo_ J/Z‘/,Z
% y a0 Y
e (1§ 7oamsa 14 72 7)
Joo 000 /74 2

WM



" Uut _ 7

1 —
w A w \z
) fe
,K-I\AAAA . 194 2
JUUVOLODU J ¥ \1¢7,67

wes< /292 =

Usn
/[l71< < w<< Jo0000 = \ = 60
Urn
Unt 107
W >z Sp0000 -> | — = 3.0-10°
Uin aw)

Unt \
Uin Bopepincram (4MPZ/7UD/<'U'€VA/U/
bot---------,
é'o T /
)
f , w
0’60 t P———. &= o = 4 4 Q’:‘ >
Lz4z 142 /292 g :o;\ 3 (gg_o)
4 2 4 O (o] S
o o °
( 4 g
=L THu WY = 27 Fu

= £, =198l = f =776 kHe




s P
Noit S5 7Azz o, (éj  Beesia

BrooRl Eer7r  ~F 2N T

/e,c /e,%a |
== + )
Ll 2t Z{z,(zf)
I

/ - /
SSCUARSENC  CRNEnanstanarn
£ .
Noze frAis £, L& f‘?//.‘c‘/x//q

BroORLSET LA fbf/_—(tf) 3

Fr L4
— i
7/
+ e ( ’é)
Ue (&) L
_ 0

Wc(é) 4 = /eﬁor‘-/?;

Ue (£) K

174 .
= ruc(é) = 0, 30 r//f(/oooé} Vv

e (f) = U, (’é) /+ By ({:) =

2, (é) R 0,30)"/2(/000&) v

R
W l=lmpao

Z 7
wm) = e —_— 7= !,J 22 .5

éflj'ms




O
7\.;1&:0
= i 87 P =509
B T Tz(ﬁ
- )
C‘aZOFF
< — VY
L=/00m#H

o

BeCYrrELSEVILLEKOR
o (-4
LA BRYTAREN S7HR

L4

/) LACE A :
2
LiIkSTROM T A0 =0 =

’UUL=O = U =0 }é%___o

¢

e = W,

INEGEA
BEEYNNEASE -
ENERE ,  /

KONOEIWSATOLN,

J=020A

ol
I
> |
A



T O—4
3 (s)
& sk
- -
_7_ ’”
j(s) = ](5) .56 (,STEC)MDE.L/"/A/G—)
1 o i
SC
e Js)= £ /s Onrs LAG )
OAR . | 7. L
\SA + _____\§§1._——
5 5F

Norep,/ SE7  => _7(3‘) = =

. o o

200 500

500 (S"'SOO)&'* 5002:

v

z ({) = 0 4- 9,—500,# s/n 500 ¢ A



